(B)RAIR =E—E

Emd h7— FH | O | £ @D R TEE
TY—X 1000 —4+—TV NA 5 1 76,670 69,700 @)
BR @)
1203 —F+—TV NA 5 1 87,890 79,900 @)
BR @)
80H A Kh— K NA 9.1 1 106,480 96,800 @)
BR @)
12044 RR—F NA 14 1 129,140| 117,400 @)
BR @)
40F = Z b NA 4.3 1 55,330 50,300 @)
BR @)
80F vy MRFA KB NA 9 1 96,800 88,000 @)
BR @)
80L3 2 —XBOX (1R) NA 12 1 92,840 84,400 @)
BR @)
80H 2 —XBOX (1R) NA 23 1 140,360 127,600 @)
BR @)
80Ly 2 —XBOX (#7 R) NA 12 1 91,190 82,900 @)
BR @)
80H 2 —XBOX (#HF R) NA 23 1 136,730 124,300 @)
BR @)
80Ly 2 —XBOX (35—) NA 12 1 92,840 84,400 @)
BR @)
80H 2 —XBOX (35 —) NA 23 1 140,800| 128,000 @)
BR @)
Loz 8044 = iR — K CREAER FEE NA 25 1 92,840 84,400 @)
BR @)
1054 — 7 v R — K (Hk#5) NA 33 1 134,200 122,000 @)
BR @)
120F — 7R —F (Hk#5) NA 38 1 152,240| 138,400 @)
BR @)
LR 80DB 25 1 149,270 135,700 A
1000P 31 2 185,570 168,700 @)
883 FATVHR—F 9 1 117,040| 106,400 @)
1203 RATVA— R 12 1 125,070| 113,700 @)
135TVAR—F 9 1 98,670 89,700 @)
160TVH— K 11 1 118,800 108,000 @)
180TVA—F 12 1 126,940 115,400 @)
J4FL 807 — F2E& B WH 32 1 74,470 67,700 @)
DK @)
80R A WH 32 1 90,640 82,400 @)
DK @)
807 — R 2 WH 32 1 84,700 77,000 @)
DK @)
80%7—F &b WH 24 1 121,000{ 110,000 @)
DK @)
804 —7> WH 24 1 90,640 82,400 @)
DK @)
80LEZ D575 WH 7 1 44,440 40,400 @)
DK @)
80LEX D445 WH 6 1 38,170 34,700 @)
DK @)

8ATA



hFUTI 85TVHR— F NA 9 1 106,480 96,800 @)
BR @)

120TVH— K NA 13 1 129,140 117,400 @)

BR @)

ALvb 6074 X7 LAz BR 16 1 66,990 60,900 @)
WH @)

6047 —F xR b BR 16 1 94,820 86,200 @)

WH @)

608K B Y BR 16 1 77,440 70,400 @)

WH @)

607 —Fa—7 BR 16 1 66,990 60,900 @)

WH @)

80F 4 AL A zL7 BR 21 1 74,690 67,900 @)

WH @)

80X 7—F xR BR 21 1 108,130 98,300 @)

WH @)

8OfRP Y BR 21 1 89,980 81,800 @)

WH @)

807 —Fp—7 BR 21 1 74,690 67,900 @)

WH @)

v—= 375 =4y — 9 1 60,500 55,000 @)
454 =41 — 11 1 66,990 60,900 @)

5250 =&Y — 13 1 73,480 66,800 @)

60 =41 — 14 1 79,860 72,600 @)

= 17.5 1 90,750 82,500 @)

Sz xA 80&4 = h—F 25.1 1 125,070| 113,700 @)
1204 —7>vR—F 37 1 169,400 154,000 @)

80HT v R— 12.5 1 80,740 73,400 @)

12087 & — 18.5 1 117,040 106,400 @)

0L v UhH 17 1 96,800 88,000 @)

120TVHR— K 9 1 88,770 80,700 @)

150TVH— K 11 1 108,900 99,000 @)

180TVH— F 13 1 121,000{ 110,000 @)

803 FATVHR—F 12 1 107,800 98,000 @)

1203 RATVR—R 18 1 121,000{ 110,000 @)

804+ —7>v> 7 18 1 72,600 66,000 @)

27 80> L7 23.5 1 @)
12087 % — 17.1 1 @)

S0B 251 23.5 1 @)

AT R— 11.5 1 @)

T 6044 = IR—F 19 1 86,790 78,900 @)
1054 —7>vHh— K 33.2 2 127,050| 115,500 @)

80F v Ex v k 10 1 66,770 60,700 @)

120 v Ex v b 15 1 87,340 79,400 @)

120T VAR—F 8.3 1 66,990 60,900 @)

150 T VA— R 10 1 89,540 81,400 @)

180T VR— R 12.2 1 112,970 102,700 @)

274 150TVA— K 10.2 1 A
180TVA— K 12.3 1 @)

80F v £ 10 1 @)

120F v & 14.5 1 @)

8ATA



N.Z>Y T4 60DB 17.8 1 128,370| 116,700 O
1000P 29.7 1 176,000/ 160,000 O

Fr b7 8054 = iR —F NA 25 1 88,770/ 80,700/ O
BR 25 1 88,770| 80,700/ O

1054 — 7> R — K NA 33 1 112,970 102,700 A

BR 33 1 112,970 102,700 O

1204 — 7> R —F NA 38 1 124,300{ 113,000 O

BR 38 1 124,300{ 113,000{ O

80 & — NA 12 1 64,570 58,700/ O

BR 12 1 64,570 58,700 O

105H % > &— NA 16 1 76,670[ 69,700 A

BR 16 1 76,670 69,700 O

120079 > &— NA 18 1 84,700 77,000 O

BR 16 1 84,700 77,000 O

FNT 7— Fx7 QBIAY) 12.3 1 52,800 48,000 O
NEyv 80TV/R— K 10.6 1 73,700/ 67,000 O
100TVA— K 133 1 90,640| 82,400 O

7ZLZ3 6054 = > R~ F NA 18 1 106,700| 97,000 A
BR O

1004 — 7 ¥R — K NA 30 1 151,470| 137,700 O

BR O

100h 7 > & — NA 13.4 1 92,840| 84,400 O

BR O

603 FR— K NA 11.3 1 87,670/ 79,700 O

BR O

903 FR— K NA 16.7 1 106,700{  97,000{ O

BR O

80HA FR—F NA 8.9 1 87,670/ 79,700 O

BR O

12094 FAR— K NA 133 1 106,700{ 97,000 O

BR O

160T VE—F (RF) NA 40 1 163,240| 148,400 O

BR O

160T VA—F (#72) NA 40 1 163,240 148,400 O

BR O

N.ZLz2a 160TVHR— K NA 12 2 180,730| 164,300 O
BR O

160A—F— K NA 10 1 106,920{ 97,200 O

BR O

RIVET 160TVHR— K 9 1 105270 95700 O
105t > & —F— 7L 6.5 1 69,520| 63,200/ O

110SD 115 1 108,900{  99,000{ O

76SD 12 1 100,430| 91,300 O

7Ky YA R7L—L o)
80FA BIEHL 11 1 102,850 93,500 O

80FA MAEE 11 1 107,470| 97,700 O

80FH HEIX 11 1 104,940{ 95400 O

80F&E A74F 11 1 101,090{ 91,900 O

80LA 7 AE 5 1 48,400 44000 O

80 LA HREE 5 1 50,600[  46,000[ O

80EAH A—7> 2 1 9,240 8,400 O

IR H



£y b 600ON1 L& 8.6 1 48,400 44,000 O
60 0ON2 Lt#& 8.6 1 39,270 35,700 O

60ON3 L& 8.6 1 46,420 42,200 O

400N1 L& 5.7 1 36,300 33,000 O

60 UN1 T& 8.2 1 49,280 44,800 O

60 UN2 T& 8.2 1 56,540 51,400 O

60 UN3 T& 8.2 1 47,300 43,000 O

40UN1 T& 55 1 40,370 36,700 O

PR 0.3 1 6,380 5,800 O

100K 0.4 1 8,030 7,300 O

120K AR 0.5 1 9,680 8,800 O

160K R 0.6 1 12,870 11,700 O

180K AR 0.7 1 14,520 13,200 O

YRyo 135 T VAR—F 9.1 1 111,870 101,700 O
160T VAR—F 10.7 1 119,900 109,000 O

80-5F7 = X b 15 1 121,000 110,000 A

120-3F7 = X b+ 14 1 121,000 110,000 O

804 —7viR—F 24 1 145,200 132,000 O

80Hh W v — 14 1 88,770 80,700 O

12078 — 20 1 117,040 106,400 O

105t & —F7—7 10.3 1 66,550 60,500 X

LAY F 60L& NA 5 1 43,230 39,300 O
BR O

150 L& NA 12 1 73,480 66,800 O

BR O

60F v Ex v b NA 18 1 103,290 93,900 O

BR O

04— R—F NA 18 1 85,580 77,800 O

BR O

150TVAR—F(RZ 4 F) NA 45 1 165,440 150,400 O

BR O

Y FA 1357 =7 WN 5.4 1 147,400 134,000 O
1507 =7 WN 5.8 1 165,000 150,000 O

1807 — 7 WN 7.8 1 187,000 170,000 O

105> F WN x BK 2.4 1 39,600 36,000 O

125~ > F WN x BK 2.8 1 42,900 39,000 O

150> F WN x BK 3.3 1 46,200 42,000 O

Fx7 QCHAY) WN x BK 11.3 1 79,200 72,000 O

1367 =7 OAK 5.4 1 125,400 114,000 O

1507 — 7 OAK 5.8 1 143,000 130,000 O

1807 —7w OAK 7.8 1 165,000 150,000 X

105~ > F OAK x BK 2.4 1 37,400 34,000 O

125> F OAKxBK 2.8 1 40,700 37,000 X

150~ > F OAK x BK 3.3 1 44,000 40,000 X

Fz7 CHAY) OAKxBK 11.3 1 74,800 68,000 O

BASARA PT=oLV T YExBR 37 2 224,840 204,400 A
ZATTON J—oL7a7YI7 YE 3 1 34,870 31,700 O
BL 3 1 34,870 31,700 O

AGY 3 1 34,870 31,700 O

BR 3 1 34,870 31,700 O

PEC 3 1 34,870 31,700 O

8 LtH

8A LA

8A LA

108 L8
8ATHE
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CRC 13544 = 25 — FILEMR,/ AR5 WN 6.4 2 153,400 139,400 @)
135484 = 77 — ZIVRMR/ AREH) OAK 6.4 2 128,300 116,600 @)
15084 = 75 — ZIVKIR,/ ARE) WN 6.5 2 168,300 153,000 A
15084 = 7'F — ZIVRIR/ AREH) OAK 6.5 2 137,500 125,000 @)
18084 = 75 — ZIVKIR,/ ARELH) WN 7.4 2 192,200 174,700 @)
18084 = 7'F — ZIVRMR/ AREH) OAK 7.4 2 157,300 143,000 @)
210684 = 57 — 7IVKIR,/ ARELH WN 8.1 2 261,500| 237,700 A
21084 = 05 — 7RI/ AREH] OAK 8.1 2 193,000 175,400 @)
15084 = o F— 7L WN 5.1 2 116,300 105,700 @)

OAK 5.1 2 116,300 105,700 @)

18044 = ¥ F— 7L WN 5.8 2 131,400 119,400 @)
OAK 5.8 2 131,400 119,400 @)

20084 = IF =TI WN 6.7 2 146,800 133,400 @)
OAK 6.7 2 146,800 133,400 @)

125R > F WN 3 1 42,300 38,400 @)
OAK 3 1 42,300 38,400 @)

155> F WN 4 1 50,000 45,400 A
OAK 4 1 50,000 45,400 @)

BT RE (LBAY) BR 8 1 45,100 41,000 @)
NA 8 1 45,100 41,000 A

BF PVC (1BIAY) BR 8 1 45,100 41,000 @)
NA 8 1 45,100 41,000 @)

SSK 80X R FHT v R— GY 11.7 1 98,670 89,700 @)
NA 11.7 1 98,670 89,700 @)

WH 11.7 1 98,670 89,700 @)

80hy v &— GY 11.7 1 123,200 112,000 @)
NA 11.7 1 123,200 112,000 @)

WH 11.7 1 123,200[ 112,000 @)

120h > & — GY 17.7 1 150,370 136,700 @)
NA 17.7 1 150,370 136,700 @)

WH 17.7 1 150,370 136,700 @)

YOKAZZE (hvFv 77— (L) DGY 46 2 220,000 200,000 @)
HoFV 77— (R) DGY 46 2 220,000| 200,000 @)

9B E

9B $E

9B

9B TH



Emd LA L
FNRR 114SD 118 1 124,740 113.400] 1
1200 —F— 9.2 1 115500] 105,000] 5
7L 23 FE120% v £ 90970]  s2700] 3
HRA0F £ X b 46970  42,700] 7
ribero 1100 —F— NA 101 99,000] 90,000 3
DK 1
775D #5 % NA 7.9 94600 86,000 10
DK 8
114D #5 X DK 117 117,700 107,000] 3
775D #iR NA 7.9 94600] 86,000 7
DK 2
1145D 8k NA 117 117,700] 107,000] 4
DK 5
TTZ54F #5% NA 7.9 94600] 86,000 16
DK 2
DK 2
1254 F 8k NA 7.9 94600] 86,000 9
DK 3
114254 F @R DK 119 117,700 107,000 2
() PBARIFR =%:m®Es TEL:0944-88-1985 FAX : 0944-88-1993 MOBILE : 080-1723-5669




